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T A/PART A

Directions for the following 02 (two) items :
Read the following passage and answer the items
that follow the passage. Your answers to the items
should be based on the passage only.

Passage

Success in online education during
COVID-19 pandemic cannot be announced as a
reality simply because education cannot be on
transmission mode, with a switch on and off button.
stock

disruption to students and families. We have to see

Education must take of dehumanising
if students’ entitlements are being compromised.
We must provide meaningful academic curriculum
There has to be some effort to
personalise education and bring in context specific

alternatives.

alternatives rather than just a general modus
operandi and applaud it as a grand success. In
digital education,
enslaved to a system that encourages coaching, not
teaching. Students learn more from each other,
while engaging in challenging collective tasks and

teachers feel trapped and

thinking together. Staring at a screen, learners do
not think, question, argue, discuss but only act as
remote receptors of what is beamed.

1. Based on the above passage, the following

assumptions have been made :

| Online education dehumanises the

education system.
II. Learning needs to be a collective effort.

III. Online education may be used for out of
school children, but not for students in
classrooms.

Which of the above assumptions are valid ?
(a) TIandIIonly

(b) II and III only

(¢) Iand III only

(d I IIandIII

JMRE-B-KLI

(2-A)

2.

Which one of the following best reflects the
crux of the passage ?

(a)

(b)

(c)

(d)

Technology has no role in formal

education system.

Technology replaces the teachers or

their effectiveness.

Digital learning is not a substitute for

classroom teaching and learning.

Digital learning is complementary to

conventional learning.

Read the following pairs :

111

III.

Phrase Meaning

Get along with Make progress

Get down to Begin to give serious
: attention to

Get back at To react to someone

How many of the above pairs are correctly

matched ?

(a)

(b)

(G

(d)

None of the pairs
Only one pair
Only two pairs

All three pairs
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Read the following passage :

Political stability and economic prosperity are
the two most ideal conditions for democracy to
flourish. Even in democracies today, crucial

knowledge is available to only few

individuals.

How many errors are there in the above
passage ?

(a) No error

(b)  Only one error

(¢) Two errors

(d) More than two errors

Read the following pairs :
Idiom Meaning

I. Put two and two  To draw a correct

together inference

II. At sixes and In a comfortable
sevens situation

III.  On cloud nine Extremely unhappy

How many of the above pairs are correctly
matched ?

(a)  None of the pairs
(b)  Only one pair
(¢)  Only two pairs

(d) All three pairs

(3-A)
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(a) ad I3 I
(b) had I1 3R III
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“Freant RE-2008 a1 e wHfRH 5
SER HrquT # HiEr EE A 8, it
o EWU 9 G9E @ew 9 9 dal § |
AT A1 T W # w < S aws
2, afth gat wrwisdi # W EAN IS ? |

70 uRee-aim & gy o frefafad womi ®
ﬁﬁl’l’(ﬁm:

I 2 % UG AN s bl IS el |
TGH HUFH 7 |

1. HIWT & HiE o0 w8 e 3 S s
TEEEE H A R |

I gahfor wfd # weT 1 wEwEgo AeH
Bl 2 |

i ¥ PHA F Iw ufEse-Im w
fafganef 2 2
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(b) ae II
(¢ I,II3R III
(d I I3 IV
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11.

12.

(5-A)

Fill in the blanks (X, Y) in the following

sentences with appropriate word/phrase given

in the brackets :

T The passenger in the train spoke
X (little/a little) English and hence it

was difficult to communicate with him.

II. Things are not going so well for my
friend, .as he has Y

problems.

(few/a few)

X and Y respectively stand for :

(a) little, few

(b) alittle, a few
(c) little, a few
(d) alittle, few

Read the following three statements, each
given in the form of Active voice and Passive

voice :

Passive voice

It is time for the

Active voice

It is time to shut

down the shop. shop to shut down.
II.  Please enter by You are requested to

this door. enter by this door.
III. What amazed What were you

you ? amazed ?

In how many of the above statements is the

Active voice correctly expressed in the Passive

voice ?

(a) None

(b) Only one
(¢c)  Only two
(d) All three



13. Read the following three statements, each | 14.
given in the form of Direct speech and

Indirect speech :

I. Direct speech

Indirect speech :

II. Direct speech

Indirect speech :

III. Direct speech

Indirect speech :

In how many of the above statements is the

Direct speech correctly expressed in the

Indirect speech ?
(a) None

(b) Only one
(¢) Onlytwo

(d) All three

JMRE-B-KLI

. “How clever am I ?”

. The teacher said to

The lady officer said,

The lady officer
exclaimed that she

was very clever.

the student, “Bravo !
You have done well.”
The teacher
applauded the
student saying that
he had done well.

He said, “No, I did not | 15.

participate.”
He denied that he did

not participate.

(6-A)

Read the following pairs in which ‘up’ is used
as adjective, adverb, noun, preposition, etc :

Sentence Used as

L. Prices of the Adverb
commodities are
going up.

II. The boy went up the Preposition
hill.

III. The next Up train Adjective
departs at 7:00 a.m.

How many of the above pairs are correctly
matched ?

(a) None of the pairs
(b)  Only one pair

(¢c) Only two pairs
(d) All three pairs

Read the following pairs :

Group of words One-word
substitution
I Great academic Erudition
knowledge
II. A child who stays away  Truant
from school without
permission
III. Never making mistakes Incorrigible

How many of the above pairs are correctly
matched ?

(a) None of the pairs
(b) Only one pair

(¢)  Only two pairs
(d) All three pairs
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9B

F15 e WmUE W AR Ikl hl DS &=

o & i < 37 TaE §, 3 w8 foemeft

frforfiad Jeqor st @ -

1. 37 &1 INTHS 3kl & AR b ST
2
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AT T BATT 2

(a) 176

(b) 257

514

Juate STHSl ¥ BN IMT ®9 W

fayifa 4t fopen S Feha

(c)

(d)
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(a) 67

(b) 170

(c) . 2
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(d)

(8-A)

24.
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44 98
3374
26 94
22 98

(a)
(b)
(c)
(d)
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22.
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PART B

A teacher writes a 4-digit number on the
blackboard in which two digits are equal and
the following observations are made by a
student :

1. The sum of the digits is equal to the
product of the digits.

2. The number is divisible by the sum of
the digits.

What is the quotient when the number is
divided by the sum of the digits ?

(a) 176
(b)....267
(c) 514

(d) Cannot be determined uniquely due to
insufficient data

» Students of a class took a test that carries a

of 100 marks. The
misplaced the answer sheet of two students
X and Y. But she remembered that X scored
marks somewhere between 10 and 15, and
Y scored marks between 55 and 65. She also
remembered that the product of the marks

maximum teacher

obtained by them was equal to ten times the
sum of the marks obtained by them. What is
the sum of the marks obtained by them ?

(a) 67
(b) 70
te)- =92

(d) Cannot be obtained due to insufficient
data

23.

24.

(9-A)

An exercise on a chapter comprises
100 numerical questions. The teacher gave
the task to three students X, Y, Z of the class
Each

60 questions but all questions were solved.

to solve them. solved exactly
Any question is known as ‘easy’ if it is solved
by all of them and “difficult’ if it is solved by
only one of them. How many ‘difficult’

questions are there ?

(@ 0
(b) 30
(c) 40

(d) Cannot be determined uniquely due to
insufficient data

Three Vice-Principals X, Y, Z from three
different schools met in an Orientation
Programme in the month of June 2022. Y said
to X, “Your teaching experience is twice that
of mine.” Z said to X, “Your teaching
experience is thrice that of mine.” When the
three last met in the month of June 2016, Y
said to X, “Your teaching exper_ience is thrice
that of mine,” and Z said to Y, “Your teaching
experience is thrice that of mine.” What is the
total experience possessed by all three of them
as on June 2022 ?

(a) 44 years
(b) 33 years
(¢) 26 years

(d) 22years
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28.

(10-A)
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A student received marks in four subjects and
each subject carries maximum marks of 50.
His aggregate marks are 50%. He scored
maximum marks in Science and minimum
marks in Hindi with a difference of 45 marks
between them. He scored 50% more marks in
Mathematics as compared to English. Which
of the following conclusions can be drawn
from the above information ?

1. The student should have got less than
20 marks in English.

2. The student should have got less than
30 marks in Mathematics.

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

(¢c) Both1and2

(d) Neither 1 nor 2

A test has 100 questions. A student scores
3 marks for a correct answer, — 1 mark for a
wrong answer, — 0-5 mark for not attempting
a question. If the net score of a student is 145,
then which of the following statements is/are
correct ?

1. The number of questions answered

correctly by the student lies between
48 and 56.

2. The number of questions answered
wrongly by the student lies between
4 and 48.

Select the correct answer using the code given

below :

(a) 1only

(b) 2only

(c) Both1and?2
(d) Neither 1 nor 2

27.

28.

(11-A)

There are 3 classes A, B, C having 40, 45, 50
students respectively. The average marks of
students of class A, B, C are respectively
25, 30, 40. The highest score is 28, 35, 49 and
lowest score is 20, 25, 36 in class A, B, C
respectively. Consider  the  following
statements :
1. If 5 students out of 40 are transferred
from A to B, the average score of A
decreases.

2. If 5 students out of 45 are transferred
from B to C, the average score of C
decreases.

Which of the above statements can be
concluded ?

(a) 1only

(b) 2 only

(¢) Both1and2
(d) Neither 1 nor 2

Five students A, B, C, D, E from five different
schools appeared in a General Knowledge
competition. The marks scored by A and D
together are equal to the marks scored by B
and C together. The marks scored by A and E
together are equal to the marks scored by C
and D together. The marks scored by A and E
together are more than twice the marks
scored by C. The marks scored by B and D
together are less than twice the marks scored
by A. Which of the following statements can
be concluded ?

1. B scored the highest marks.

2.  E scored the least marks.

Select the correct answer using the code given
below :

(a) 1only

(b) 2only

(c) Both1and2
(d) Neither 1 nor 2
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(a) 56%
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(a) whad 1
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31.

32.
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(a) 18

(b) 36

(c) 54

(d 108




29. A class has 4 sections that contain 40, 50, 60
and 50 students respectively. 50%, 60%, 50%
and 60% students passed in these sections
respectively. What is the percentage of failed
students in the entire class ?

(a) 56%
(b) 50%
() 45%
(d) 42%

30. The marks scored in a test are converted from
50 to 20 for the purpose of internal
assessment. The highest marks are 48 and
the lowest marks are 7. Which of the following
statements is/are correct ?

1.  The average of maximum and minimum
marks of the internal assessment is 11.

2. The average marks of the internal
assessment of the whole class reduces by
60%.

Select the correct answer using the code given

below : ¢

(a) 1only

(b) 2 only

(¢) Both1and?2

(d) Neither 1 nor 2

JMRE-B-KLI

31.

32.

(13-A)

The History teacher was referring to an event
that happened in the 19th century. Consider
the Question and the Statements given
below :

Question :

When (year) did the event happen ?

Statement-1 :
The sum of the middle digits of the
number representing the year is equal
to the sum of the first and the last
digits.

Statement-2 :

If the digits of the number representing
the year are reversed, the resulting
number would increase by 4-5 times.

Which one of the following is correct in
respect of the above Question and
Statements ?

(a) Statement-1 alone is sufficient to answer
the Question.

(b) Statement-2 alone is sufficient to answer
the Question.

(c) Both Statement-1 and Statement-2 are

required to answer the Question.

(d) Both Statement-1 and Statement-2 are
not sufficient to answer the Question.

Three students sit on two rows of chairs. Each
row has three chairs. Each row must have at
least one student. In how many ways can the

arrangements be made ?

(a) 18
(b) 36
(c) 54
(d) 108



33.

34.
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Fo fomfE 1 36 feagT % R W

S, ‘o B aoh & T R |

48 sfrat & | wefeat faenfdat 1 40% 2

20 T Bl Fepee H AR f T B | 50%

faenfofRll 1 @1 At Iepe’ A AW i AR &

T R | THAUE Wehi H Ed AR &

T 2, 40 faenRREl w1 ST’ o Aoft § S R

freferfed st W fomam A

1. ‘Sepee Ioft archt S Tghl TE @ |

9. ‘shad foft arer faenfial ot STm’ Soft
et faenfR & e =1 o Saw’ Soft
g fafRl e S’ Aoft I
frenfoRit % <9 % 37 & TR 2 |

I9Th HYAET § A HH-/A TE B2 ?

(a) ad 1

(b) HaA 2

(¢) 13 22M

@@ JA@L, TR 2

@7 & (dwar, d@meER, guer) % fae
faafiat € siea 3ufeafa 950 off 3 v
= fel (eaw, yrar, wfEwr) & fag 900
off | et woE § =R ff (FeER, guen,
TeE, ehaR) e sftwa sufeafd 930 off |
freafefiga wuai w femm hife -

1.  Omar 3R vfEr F fu siea sufeafa
915 <t |

9. WRER & oWam WWaw w1 Iufeyfd
fafeea w9 @ arfes oft |

I el § A HH-A/A T B/E 2
(a) had 1

(b) A 2

(¢) 13 2gHi

(@ A1, A8 2

(14-A)

35.

36.

317.

104 &M § 9R AT A, B,C,D? | P,Q,R,
s wen e € | T @ W W T e
qitegor R ST SEdTfed B MR SET W |
wea e 3w aum & fou s T8 &
Tt | Flieep! & fohas waeH 99a 7 ?
(@)259

(b) 12

(c) 18

@ 24

FIHA 3, 14, 39, 84, 155, X H gH 9g (X) T
22

(a) 224

(b) 238

(c) 258

d) 264

A+BHF ATRATSIRBY; A-BH 3 &
ADRI R BY; Ax B 3 § AT § I RN
EB% A+ BH dE A SR A TR B
BH A~BHI AT RATRE B & |

frafafaa w foam $ifsw

i P+Q

(i) R+8

@) Tx P

iv) Q~R

W) S-U

frfafga § @ #9-a s [fvea w9 9 fred
27

1. TESIRU™

2. PBRIESHE

9 fow T He 1 T A E I A
(a) Had 1

(b) HadA 2

() 13 2gHi

@ T@M1L,TR2
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34.
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Students are graded as ‘excellent’, ‘good’,
‘average’ on the basis of their performance.
There are 48 girls. 40% of the students are
girls. 20 boys are graded °‘excellent’. 50%
students are graded either ‘excellent’ or ‘good’.
One-fourth of the boys are graded average,
40 students are graded ‘good’. Consider the
following statements :

1.  There are no girls with ‘excellent’ grade.

2. The difference between students with
‘avérage’ grade and students with ‘good’
grade is equal to the difference between
students with ‘good’ grade and students
with ‘excellent’ grade.

Which of the above statements is/are correct ?
(a) 1only

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

The average attendance of students for three
days (Monday, Tuesday, Wednesday) was 950
and for the next three days (Thursday,
Friday, Saturday) was 900. The average
attendance for four days (Tuesday,
Wednesday, Thursday, Friday) in the same
week was 930.

Consider the following statements :

1. The average attendance for Monday and
Saturday was 915.

2. The attendance was certainly higher on
Monday than on Saturday.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2only

(¢c) Both1and?2
(d) Neither 1 nor 2

35.

36.

37.

(15-A)

There are four sections A, B, C, D in
10t class. P, Q, R, S are class teachers. A unit
test is proposed to be conducted at the same
time and the corresponding class teacher of
the section cannot be the invigilator for the

section. How many combinations of
invigilators are possible ?

(@ 9

(b) 12

(¢c) .18

d 24

What is the missing term (X) in the sequence
3, 14, 39, 84, 155, X ?

(a) 224
(b) 238
(c) 258
(d 264

A + B means A is greater than B; A — B means
A is less than B; A x B means A is greater
than or equal to B; A = B means A is less
than or equal to B; A ~ B means A is equal to
B.

Consider the following :

i P+Q

(i) R=5

Gil): TXe

iv) Q~R

(v) S-U

Which of the following can certainly be
concluded ?

1. Tisgreater than U

2. Pislessthan S

Select the correct answer using the code given

below :
(a) 1only
(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2



38. Wifihvm it wSAgEs i 3 wlem sk
THREA-ITE 6l UTeagEdeh ot 4 Sfadi &t ama
T 2,430 U1 WRANEE H USHgES I
5 gt 3 i st arsegEas H 6 gfadl
AN ¥ 1,380 2 | wifeeh-amen Y wresgEdes
9 Sferi, TERA-ITE Y UTS=IgEdeh i 22 gfeai
3R Tforg Y TSeIgEde 12 fedl i @rra
1 gt ?
(@) ¥ 10,000
(b) ¥ 10,050
(¢ 11,000
(d) I ksl & Hro Fuifa & e

ST bl

39. THA YXZ, XWY, WVX, *, UTV, TSU & gH
TS (%) 1§ ?
(a) VWU
(b) VUW
@) YUY
d XUwW

40. foreht fommer 1 40% Tora H&m 18 VR, 50% |-
TSR &1 VI 8 X &, 3R 10% T el X1
3R XII & 61 & &9 & 31ren & | e feem
oA H1E & 18 V & 1w 209%, wem vI A X
% T 30% 3 sem X1 3R XII & fu 40%
5gl 3, @ faene™ & woa # foraw e afy
2t 2
(@) 27%
(b) 28%
(© 29%
d 30%
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41.

42.

(16-A)

fova et feam & ey o f=ffgg o w
ﬁ?ﬂlﬁﬁﬂz

1. 5 foasx = fava s ag & s &
NiYg fomm w2 |

2. fava e feam, 2022 #1 ofiw “9rewsn
o giEdq, fien § sviaeh seaE”
(“Changing
Education”) & |

I9YH HYAI & Gay # F=fefgd § @ A

g 72

(a) had 1

(b) had 2

(¢ 13K 22M

@ Fa@1, T8 2

Course, Transforming

dren-#ft (PM-SHRI) Tgeii % ey # frmferfaa

HeAl 1 fomm hifdw

1. 38 IS % IGER, M § YA selih
31 frem-oft et & |

2. e waem vy fuasft wpa, fies
3 BE & fHvaTET TSR w@ar 2 |

3. mmﬁwmmw
W W Al Bl BISW had el
foemeri, arga foememi # ggg swmEn
e a9 et wgeE % w9 #
fomfEa &1 o |

fopaa o Tt § 2

(a) g Mt FoT &

(b) HIA Th HIYH

(¢) had ql HYA

@ @oft it s



38.

39.

40.

3 copies of Physics and 4 copies of Chemistry
textbooks cost ¥ 2,430 and 5 copies of

Chemistry and 6 copies of Mathematics
textbooks cost T 1,380. What is the cost of

9 Physics, 22 Chemistry and 12 Mathematics
textbooks ?

(a) ¥ 10,000
(b) ¥ 10,050
(¢) ¥ 11,000

(d) Cannot be determined due to insufficient
"~ data

What is the missing term (*) in the sequence
YXZ, XWY, WVX, * UTV, TSU ?

(a) VWU
(b) VUW
(e VUY
(d) XUW

40% revenues of a school come from class I to
V, 50% revenues from class VI to class X and
10% revenues from class XI and class XII in
the form of fees. If the school raises its fees by
20% for classes I to V, 30% for classes VI to X
and 40% for classes XI and XII, what is the

percentage increase of revenues of the school ?

(@ 27%
(b) 28%
(e 29%
(d) 30%
JMRE-B-KLI

41.

42.

(17-A)

Consider the following statements in respect
of World Teachers’ Day :

1. 5% September is declared as World
Teachers’ Day.

2. . The theme of World Teachers’ Day, 2022
is “Changing Course,
Education”.

Transforming

Which one of the following is correct in
respect of the above statements ?

(a) 1only

(b) 2 only

(¢) Both1and2
(d) Neither 1 nor 2

Consider the following statements in respect
of PM-SHRI schools :

1.  According to the scheme, each block in
the country will have two PM-SHRI

schools.

2. The Ministry of Education tracks the
performance of each PM-SHRI school,

teacher and students.

3. Only Kendriya Vidyalayas, Navodaya
Vidyalayas but not those schools run by
State Governments and local bodies are
strengthened to emerge as PM-SHRI

schools.
How many statements are correct ?
(a) None of the statements
(b)  Only one statement
(c) Only two statements

(d) All three statements



43.

44.

JMRE-B-KLI

T Yve faew (NPS) & gy #, Fefafead
A HH-H/HH-Y HUH T& 8/ ?

1. NPS %! %° g USHR e grl omfea
fopa wmaT 2 |

2. g AT 1 SHal, 2004 ¥ YA s@l
gfed F¢ TR | wdl 89 9o ot Ju
it & fore e 2 |

3. JftEffar | Jartigm 84 W @ H
gy TR Bl FEAH 40% H AHEEC:
FIEHHT (annuitized) FoFaT ST 8 3R
A9 R A YW THR HHAR H
TSI TohaT ST R |

= feu 7T g2 w1 T W FE IW AT -
(a) Had 1 3N 2

(b) had 2 3R 3

() a3

@ 1,23R3

e W aYe FAEEH (SVC) 1 W
fafafga & @ gl W o FAEER
gfaumd enfya e o 2

1. TR & Wi et faemea

2. TR & a e

3. fToen foen wa iy g¥9™ (DIET)
S ¥ B8 T E 2

(a) hadl 1 3R 2

(b) Had 237N 3

(c) <heel 1303

d 1,233

45.

46.

(18-A)

fr=fefiad sl ® faam Hifsw -

1. Gfaum % g 76 & AH WA
TS FaUTE 9E R |

2. WRA % Ugqld g1 WA & HEIRETdl i
e & ot 8

3. HEL-HTATet 1 9e wifafies § |

4, WA % ITSCYTA GRT WA & HEl-Hifeliéet
# frgfes it st 2 |

fepa o Tl 8 2
(a) had Th B
(b) HaA G HAT
(c) had i HIH
(@ @t 9w’ HH

frfefaa Hoat = faem il

1. 9Rd % Iqusgafd o1 et d@ag & gHt
TeAl iR Tt H faurmEwieh % =t
vee ¥ fiee o4 9 frafes %
Hewll grn rufas wfaffue ughi &
AR Tohel Hshvfid Ha & foram Smar 2 |

2. HRA 1 UsgUfd, WRA & IWISUfd i
Feifta U gEaIER |fgd S@ gRT AT
e N T |

ST # ¥ HH-TY/RH-H FHU TE 82 ?
(a) %ad 1

(b) HadA 2

© 13 23M

@ a1, T2




43. Which of the following statements is/are
correct with regard to National Pension
System (NPS) ?

1. NPS is administered by the Ministry of
Labour and Employment.

2. The Scheme is mandatory for all new
recruits to the Central Government
service including the armed forces from
15t January, 2004.

3. On retirement on superannuation, a
minimum of 40% of the corpus in the
account is mandatorily annuitized and
the remaining amount is paid to the
government servant in lump sum.

Select the correct answer using the code given

below : _

(a) 1and2only

(b) 2 and 3 only

(c) 3only

@:. 1,2:and 3

44. The objective of the project Smart Virtual
Classroom (SVC) was to set up smart virtual
classroom facilities in which of the following ?
1. Government owned schools
2.  Government controlled schools
3. District Institutes for Education and

Training (DIET)

Which of the above are correct ?

(a) 1and 2only

(b) 2 and 3 only

(¢c) 1and3only

d - 1,2 and3

JMRE-B-KLI

45.

46.

(19-A)

Consider the following statements :

1. Attorney General is a Constitutional post
under Article 76 of the Constitution.

2. Attorney General of India is appointed by
the President of India.

3. The post of Solicitor General is stétutory.

4. Solicitor General of India is appointed by
the Vice President of India.

How many statements are correct ?
(a) Only one statement

(b) Only two statements

(¢) Only three statements

(d) All four statements

Consider the following statements :

1.  The Vice President of India is elected by
the members of the electoral college
consisting of elected members of both
Houses of Parliament and Legislative
Assemblies of the States in accordance
with  the of proportional
representation by means of single
transferable vote.

system

2.  The President of India may resign office
by writing under his hand addressed to
the Vice President of India.

Which of the statements given above is/are
correct ?

(a) 1only
(b) 2only
(¢c) Both1land2

(d) Neither 1 nor 2



47, A e B wew § fefiRen s W

48.
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ﬁlﬁ'ﬁiﬁﬁ'ﬂ:

1. 3h! TATOET ohg TR TSI THM & G
39 & &Y F I T8 of |

2. ¥ fvram Harer & guy wEaneiE € |

3. ¥ Thal ° aifcrerl e ot yaW 91 Hepell

g1
39 H ¥ BHAVHA-R HU T AR 2
(a) ad 1 |
(b) Had 23R 3
() Had 13 3
@ 1,233

ffafga Fomt w fomm Hifsm

1. <& (DIKSHA), T dehHieh-3eTid Siferes
9 7 St freor et srfem (Learning) *

fou s=apman wqreHi/gwde arft ad |-

fifsredt & w9 & % e 2 |

2. 431 (NISHTHA), Thiga freres wfdremor
HIHT & AT ¥ TR T W IRem
(Learning) URurmdi # gur & fou ws
TSt fowm 2 |

ITYE | | HH-AYHH-A AT T8 /R 2
(a) a1

(b) A 2

() 13 23

@ Ja1,Td2

49. &S M SifereRt fEe® (KGBV) & Hey A

50.

51.

(20-A)

ffafed w fo=m hifvw

1. ¥ Igfua wfd, alagl%amﬁm
fsgr @, ocuEETs TgEEl
Tifcpist & fau sma = (siisn)
3R fufser wafies faamem € |

2. HEQE T STt foeme TSt W@ |
f= @ et afart f arferre % o
AT 25% TRV TEH Hd 7 |

ST § W HH-A/HH-E FIF T /8 2

(a) Had 1

(b) A 2

(¢ 13K 2¢M

@ Tdq 1, T8 2

‘mreafiss fram & fow anfereststt 1 dieameT &

i T AT & anefiw fAfafea § @ 9.

aferfera g 2

1. IFggfua Sfa/eHgied et ager i
VIITET e 3ol geft snferentd

2. hEqal et Siferent faEeRi ((KGBV) @
VIIIET e 3ot geft snforentd

= feu MU e 1 FERT B TE IW AT

(a) %ad 1

(b) haA 2

(¢ 13K 23+

@ Fa1, T8 2

T g faemert fram s (NIOS) A
IYIA A THA T9 W YgaAl SAad T (live
session)ﬁFFla; lﬁzﬁ'ﬂ q gy femam o ?

(a) WISHIETTE 31X Ed4All '

(b) 2T HyAH Tfdas

(¢ IGNOU 3R T

(d) NCERT 3R 3549



47. Consider the following statements in respect
of Sainik Schools :

1. They were established as a joint venture
of the Central and State Governments.

2.  They are under the overall governance of
the Ministry of Education.

3.  Girl cadets can also be admitted in the
Schools.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

48. Consider the following statements :

1. DIKSHA is a technology-based
educational platform to serve as
national repository of high-quality
resources/e-content for teaching and
learning.

2. NISHTHA is a National Mission to
improve learning outcomes at the
elementary level through an Integrated
Teacher Training Programme.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

JMRE-B-KLI

49.

50.

51.

(21-A)

Consider the following in respect of Kasturba
Gandhi Balika Vidyalayas (KGBVs) :

1. These are residential lower and middle
primary schools for girls from SC, ST,
OBC, Minority communities.

2. KGBVs provide for a minimum
reservation of 25% for girls from families
that live below the poverty line.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(¢c) Both1and?2
(d) Neither 1 nor 2

Who among the following are covered under
‘National Scheme of Incentive to Girls for
Secondary Education’ ?

1. All girls belonging to SC/ST
communities who pass class VIII
2. All girls who pass class VIII

examination from Kasturba Gandhi
Balika Vidyalayas (KGBVs)

Select the correct answer using the code given
below :

(a) 1only

(b) 2 only

(¢c) Bothland2
(d) Neither 1 nor 2

National Institute of Open Schooling (NIOS)
commenced its first live session on Virtual

Open School platform in collaboration with
(a) Microsoft and Ed4All

(b) Tata Consultancy Services

(¢) IGNOU and Google

(d) NCERT and Infosys
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52. guEEst 9o wifeh fwio (PM POSHAN) &

ey ¥ frefafea w femm $ifsw -

1. PM POSHAN &I U& 3298 M 3R
THI-TEEar-gH faemes & e e 1
¥ VA Ugd 9Tt aeehi <l e feufa #
FUR HET R |

2. iy faucw-ew & wufies war & wfy
T & T 100 IW R 3= WAl
(T wrewdt) wenm & wfa aes & faw
200 T H W H @R I AYfd HEAT -
34 ISHT 1 IfHMS (Norm) R |

304 o A SH-FYPH-A Hud T 2 2
(a) *ad 1

(b) HIA 2

(¢ 13 23H

(@ Jdr1,T¢2

. TR 9ISV 3T (SNG) & dey | frafafea w
ﬁﬁmﬁﬁm:

1. smqmimwm%,mﬁhﬁ
IR afesi I & fow denfea e

1R |
2. SNG & fasm &1 g s=ai & FIww
aﬁzgmﬁwaﬁ?ﬁmﬁ!ﬁaﬁgw P
# Heg H R | :
I9YH | ¥ HH-T1/HH-8 YT & 2/8 ?
(@) ad 1 '
(b) HIA 2
(©) 13 2gHi
@ A1, TE2
(22-A)

54. faememt & sdad (compound wall) &+ fomtor

56.

ik yft & wwacdhmw & fow T gm

freafafga # @ SR am @ § g

wHdt @ ?

1. wgrem et s amfiu awer TRé
IS (MGNREGS)

2.  WUFEH ™ AT (PMAY)

3. WUMHHA UMW FEH A1 (PMGSY)

i fou U e F T W FE I g

(a) ¥ad 1

(b) Had 3

© 132

@ 13R3

THASA Hisa G e (EMRSs) fohsh

o & 2

(a) had AFYfEd Sfd & B

(b) T &t F YA ST 5 B

(c) maﬁgﬁamﬁaﬂtaﬁgﬁamﬁ
% B

(d) YR wifd, gfea SHeTd 3R 3=
free =t & B

6 — 14 9§ &F FrTRl & foru ren & iR
frafafaa § @ frm afeum e & arem @
Hiferes atfereer foma a2

&

(a) 8641
(b) 99ai
(¢) 1013t

(@ 103af



52.

Consider tL. > following in respect of Pradhan

Mantri Poshan Shakti Nirman

(PM POSHAN) ?

1. One of the objectives of the
PM POSHAN is to improve the

nutritional status of children studying
only in classes I -V in government and
government-aided schools.

2.  The norms for the scheme are to supply
foodgrains at the rate of 100 grams per
child per school day for primary and
200 grams for upper primary.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2

Consider the following in respect of School

53.

Nutrition Garden (SNG) :

1. SNG is a place where children are
encouraged to grow  fruits and
vegetables.

2. The objective of developing SNGs is to
help address malnutrition and
micronutrient deficiencies in children.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1and?2

(d) Neither 1 nor 2

JMRE-B-KLI

54.

55.

56.

(23-A)

For constructing compound walls in the
schools and levelling of the grounds, which of
the following schemes can be utilised by the
States ? .

1. Mahatma Gandhi National Rural
Employment Guarantee Scheme
(MGNREGS)

2.  Pradhan Mantri Awas Yojana (PMAY)

3. Pradhan Mantri Gram Sadak Yojana
(PMGSY)

Select the correct answer using the code given
below :

(a) 1only
(b) 3only
(¢) land2
(d 1and3

Eklavya Model Residential Schools (EMRSs)
are meant for :

(a) SC students only

(b) ST students in remote areas
(¢) SC and ST students only
(d)  SC, ST and OBC students

The Right to Education was made a
children
6 —14 years by which one of the following
Constitutional Amendments ?

fundamental right for aged

(a) 86th
(b) 99th
() 1015t
(d 103
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57. a9 2021 % fau FHen & 1 gwg fom s

FA-TeAIHT JEhR & dey # Frafafaa weei
R fomm Hif

FY4-1 :

Ui e ergEuE iR wfter wfteg
N T Teh THE ufed o™ wEi
Fr ArEaETRe e @€ (PSSCIVE)
! I TEHR Y foham T |

PHIF2 .

Iz TR fism § gEAl W EER
Penfeh (1CT) % v % fo fen mn
2

I &% "ey § fFefafed § § sH-E1 HH
e ? ?

(a) HYA-1 I HYF-2 AT TE & W HIA-2

FYA-1 I TE RS R |

(b) HIA-1 3 HIA-2 A1 &l & 3N HYH-2
-1 6! T AT TE B |

(c) HYA-1 T8 2 3N FHuH-2 T T ? |

(d) HYA-1 TE TE 8 3 HeA-2 T 7 |

58.

59.

60.

(24-A)

qfiE @Sl fgar, 2002 % IHER, Afdeh

el (faemert) # s 31 @ BT I %

gay # f=afeafed w faar $ifsw -

1. fyamem % feneff w @a & $ spfa
TR 3HE B, fmehl @ yenell W
faeneff @2 & i =eft yor & = o
FS-5E q |

2. UYMTEAGSH 3R ST BEH 9l AR
(afe a7 vuHTEAS F FAAET HE g
q) ea9-gg H T AR @ B |

I | ¥ BH-A/HH-H FHU TE B/E 2

(a) ad 1

(b) et 2

(¢) 13 23+

(d dd@1, T8 2

frafafea & & ®H81 g9, G7 (Group of
Seven) % HIU-HY FTE (Quad) H Mt Te=
22

(a) SArefemn SR e

(b) SUH R FATEES TIH TH I

(c) WRA 3 U

(d) 8 3R 15 WIH ATh WA

Frafefaa wuat w fomm Hifvw

1. 9%d ® $ 8 §Y TST &F %, fom @
Fad i # fagmeamd |

2. 5 U™ ST 87 U §, oeha # w4
T H TH € R |

I § A BHAY/HHA HU T R 2

(a) Had 1

(b) A 2

(c) 13 23

@ Ad1, A8 2



57.
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Consider the following statements in respect
of UNESCO’s King Hamad Bin Isa Al-Khalifa
Prize for the year 2021 :

Statement-1 :

Pandit Sundarlal Sharma Central Institute
of Vocational Education (PSSCIVE), a
constituent unit of the National Council of
Educational Research and Training has

been awarded this prize.
Statement-2 :

This prize has been awarded for the use of

Information and Communication

Technology (ICT) in Education.

Which one of the following is correct in

respect of the above statements ?

(a) Both Statement-1 and Statement-2 are
correct and Statement-2 is the correct

explanation for Statement-1.

(b) Both Statement-1 and Statement-2 are
correct and Statement-2 is not the

correct explanation for Statement-1.

(c) Statement-1 is correct and Statement-2

is incorrect.

(d) Statement-1 is incorrect and

Statement-2 is correct.

58.

59.

(25-A)

Consider the following in respect of hoisting of

the National Flag in educational institutions

(schools) according to the Flag Code of India,

2002 :

1. The school will assemble in open square
formation with pupils forming the three
sides and the Flag-staff at the centre of
the fourth side.

2. The Headmaster and the person
unfurling the Flag (if other than
Headmaster) will stand on the left side
of the Flag-staff.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(¢) Both1and2

(d) Neither 1 nor 2

Which one of the following pairs are members
of Quad as well as G7 (Group of Seven) ?

(a) Australia and Canada

(b) Japan and The United States of America
(¢) India and Japan

(d) France and The United States of
America

Consider the following statements :

1. There are 8 Union Territories in India
out of which only three have Legislative
Assemblies.

2. There are 5 Union Territories which
have one seat each in the Lok Sabha.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(c) Both1land?2

(d) Neither 1 nor 2
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61. The National Educational Policy, 2020
suggests that the curriculum framework for
adult education would include which of the
following among others ?

1.  Child care and education

2.  Digital literacy

3. Commercial skills

4. Financial literacy

Select the correct answer using the code given
below :

(a) 1and4only

(b) 2,3 and 4 only

(¢) 1,2 and 3 only

(d 1,2,3and 4

62. According to the National Education Policy,
2020, areas having large number of
socio-economically disadvantaged students
will aim for which one of the following
Pupil-Teacher Ratios ?

(a) Under40:1
(b) Under35:1
(¢) Under30:1
(d) Under25:1

63. What is “Academic Bank of Credit” as per the
National Education Policy, 2020 ?

(a) Digital storage of innovative ideas of all
academic institutions

(b) Digital storage of academic credits of
students earned from various recognized
higher education institutions

() Transferring academic credits earned by
a student from one institution to another

(d) A national lending agency to enable
teacher training institutions to organise
their programmes effectively and
efficiently
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65.

(27.+A)

Which the
recommendation of the National Education
Policy, 2020 ?

one of following is a

(a) By 2030, all teachers shall be trained in
institutions approved by the Central
Government.

(b) By 2030, all those teaching senior
secondary classes should have M.Ed.
qualification.

(c) By 2030, all teacher education will be in
multidisciplinary institutions.

(d) By 2030, all B.Ed. programmes will be of

2 years.
Which of the following are
proposed/recommended by the National

Education Policy, 2020 ?

1.  The medium of instruction until Grade 8
will be the official language of the
State/UT in which the children attend
the school.

2. In secondary schools, the students will
be given increased flexibility and choice
of subjects to study.

3. In addition to English, some other
. foreign languages will also be offered for
study at secondary level.

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only

(d 1,2and3
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66. By which year are all primary schools going to
achieve universal foundational literacy and
numeracy; as the highest priority of the
education system according to the National
Education Policy, 2020 ?

(a) 2025

(b) 2027

(c) 2029

(d) 2030

67. With reference to the Right of Children to
Free and Compulsory Education Act, 2009,
consider the following statements :

1. It is the duty of every parent or
guardian to admit his or her child or
ward to an elementary education in a
neighbourhood school.

2.  Proof of age of the child is essential at
the time of admission to an elementary
education in a neighbourhood school.

3. The teachers shall not engage
themselves in private teaching activity.

Which of the statements given above is/are

correct ?

(@) land2

(b) 3only

(¢0 land3

(d) 2only
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68.

69.

70.

(29-A)

As per the National Education Policy, 2020,
the planning and implementation of “Early
Childhood Care and Education” curriculum
will be carried out by

(a) Union Ministry of Education only

(b) Union Ministry of Education and Union
Ministry of Women and Child
Development (WCD) only

(¢c) Union Ministry of Education, WCD and
Union Ministry of Health and Family
Welfare (HFW) only

(d) Union Ministry of Education, WCD,
HFW and Union Ministry of Tribal
Affairs

Consider the following statements :

1. A test cannot be valid unless it is
reliable.

2. A test that has some validity for one
purpose is always valid for another
purpose.

3. A reliable test may not necessarily be
valid.

Select the correct answer using the code given
below :

(a) 1only
(b) 2and3
(¢) land3
(d) 2only

Formative assessment is conducted to

1. monitor student learning

2.  provide ongoing feedback

3.  improve teaching-learning process

4. know the position of a student in the
group

Select the correct answer using the code given

below :

(@) 1,2and3
(b) 2,3 and4
(¢) 1,2and 4
d 1,3and4
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71.

With reference to the United Nations
Convention on the Rights of the Child,
consider the following statements :

1. A child is any person below the age of
16.

2. Children can choose their own opinions
and religion.

3. Every child has the right to privacy.

Which of the statements given above are
correct ?

(a)
(b)
(¢c) 1and3only
(d 1,2and3

1 and 2 only
2 and 3 only

72. With reference to The Juvenile Justice (Care
and Protection of Children) Act, 2015,
consider the following statements :

1. Any child up to the age of 18 years shall
be presumed to be innocent of any
criminal intent.

2. No waiver of any of the rights of the
child is permissible or valid, whether
sought by the child or person acting on
behalf of the child.

3.  All past records of any child under the
Juvenile Justice system should be
erased without exception.

Which of the statements given above is/are

correct ?

(a) land2

(b) 2only

(¢) land3

(d) 1only
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73.

74.

75.

(31-A)

The consistency with which a test measures
whatever it measures is best stated as its

(a) Validity
(b) Reliability
(¢) Practicability

(d) Usability

Which of the following factors are the
characteristics of Standardized Achievement
test ?

1. Reliability

2. Validity

3. Norm

Select the correct answer using the code given
below :

(a) 1and2only

(b) 2and 3 only

(¢) 1and3only
d 1,2and3

In the context of role of objectives in
Educational Evaluation, which one of the
following illustrative statements of objectives
does not fall undexr Affective Domain ?

(a) The pupil appreciates a given piece of

literature

(b) The pupil expresses ideas in writing
with good speed and with correct

punctuation

(¢) The pupil develops scientific attitude

(d)

The pupil develops an interest in
reading autobiographies of scientists
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76. With reference to the factors influencing the
reliability of a test, consider the following
statements :

1. The more heterogeneous the group, the
lesser is the reliability.

2. Adding equivalent items makes a test
more reliable, while deleting them
makes it less reliable.

3.  Too easy or too difficult tests for a group
will tend to be less reliable.

Which of the statements given above are

correct ?

(a) 1and2only

(b) 2 and 3 only

(¢) 1and 3 only

(d). 1,2 and'3

77. In the context of educational measurement,
consider the following statements :

1. Items of the same difficulty level do not
always discriminate between students of
different achievement levels.

2.  If the difficulty level is exactly 0-50, then
the discrimination index has its
maximum range.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2
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78.

79.

80.

(33-A)

Which one of the following test scores can be
reported to parents for improving their
children’s achievement ?

(a) Diagnostic test scores
(b) Achievement test scores
(¢) Criterion-referenced test scores

(d) Norm-referenced test scores

Which one of the following is not a Projective
Technique ?

(a) Sentence Completion
(b) Word Associations
(¢c) Situational Test

(d) Rorschach Inkblot Test

In which of the following situations are
sociometric techniques necessarily being used
by students ?

1. When they elect their monitor
2.  When they do their homework regularly
3.  When they choose sides for a game

4. When they listen to the teacher
attentively in classroom teaching

Select the correct answer using the code given

below :
(@) 1,2and3
(b) 2 and 4 only

(¢) 1and 3 only

(d) 4 only
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81. What does the drive namely “Operation
Blackboard” as envisaged in the National
Policy on Education, 1986 imply ?

(a) To provide blackboard to all primary
schools

(b) To provide blackboard to all educational
institutions

(¢) To provide essential facilities to primary
schools

(d) To provide essential facilities to
secondary schools

82. The main purpose of measuring aptitude is to
assess the
(a) Past performance only
(b) Future performance
(¢) Present performance only
(d) Both past and present performances

83. Which one of the following best explains the
aim of a holistic and multidisciplinary
education ?

(a) To develop well-rounded individuals

(b) To provide access to higher education

(¢) To increase gross enrolment ratio in
higher education

(d) To provide opportunity to the children
belonging to marginalized sections
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85.

(35-A)

Which of the following best defines the
concept of Continuous and Comprehensive
Evaluation (CCE) ?

(a) Evaluation of learner performance in
cognitive and non-cognitive aspects
throughout the teaching-learning
process

(b) Evaluation of performance by teachers,
students and parents

(c) Evaluation of learner performance with
the help of periodic tests by the teachers

(d) Evaluation of learner performance with
the help of structured tools at regular
intervals

Consider the following statements :
Statement-I :

A sound assessment system incorporates
both cognitive and non-cognitive aspects of
education spread over the total span of
instructional time.

Statement-1I :
Learner assessment should be holistic.

Which one of the following is correct in
respect of the above statements ?

(a) Both the Statements I and II are correct
and Statement-II is the
explanation of Statement-I.

correct

(b) Both the Statements I and II are correct,
but Statement-II
explanation of Statement-I.

is not the -correct

(c) Statement-I is correct, but Statement-II
is incorrect.

(d) Statement-I is but

Statement-II is correct.

incorrect,
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87.
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86. Consider the following statements :
Statement-I :

Each individual score contributes to the

calculation of “Mean” of scores.

Statement-I1 :

“Mean” is a measure of Central Tendency.
Which one of the following is correct in
respect of the above statements ?

(a) Both the Statements I and II are correct’
and Statement-II is the correct
explanation of Statement-I.

(b) Both the Statements I and II are correct,
but Statement-II is not the correct
explanation of Statement-I.

(c) Statement-I is correct, but Statement-II
is incorrect.

(d) Statement-I is incorrect, but
Statement-II is correct.

87. The median and standard deviation of a
distribution are 25 and 2-5 respectively. If
each item in the distribution is increased by
10, then how are median and standard
deviation affected ?

(a) Median becomes 35, but standard
deviation remains unchanged

(b) Both median and standard deviation
remain unchanged

(¢) Median becomes 35, but standard
deviation becomes 12:5

(d) Median remains unchanged, but
standard deviation becomes 125

JMRE-B-KLI

89.

(37-A)

Consider the following statements :

1. TItems with difficulty level O (zero) have
discrimination index 0 (zero).

2. Items with difficulty level 1 (one) have
discrimination index 1 (one).

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(¢) Both1land2
(d) Neither 1 nor 2

In which of the following cases is median
preferred to mean ?

1. When distribution of data is skewed
2.  When one is dealing with ordinal data
3. When data distribution is continuous
4. When data is normally distributed

Select the correct answer using the code given
below:

(a) 1and2only
(b)~ 1:2 and'S

(¢) 1land3only
(d 2and4only

What is the z-score of a value of 24, given a
mean of 16 and a standard deviation of 4 ?

(a) -20
() 10
() 15
d 20



R®ad @7 (03) ¥ F forw Refifea w e
200 feranfefat i ws IR Hem H T TH (item)”
fen w1 A, B, € 3R D Yol # 9 FW A
foenfefat <t wen Fafefaa aifee o 2o 78 2
&I YT BR |
TR A B el D
i 279% (54fqenefl) | 3 | 51 | - | -
=1 27% (54 foemeff) | 12 [ 30 | 9 | 3
91. T 1 HiSHAl GIhich FT & ?
(a) 05 ‘
(b) 065
@7 0:7b
(d 09
92. 3ITYT Hfeddr &R (THadi I A IH) & W
TSIV (item) Tl HEl TG 3 BT 2
(a) Toreft wlieor & =l oft
(b) Tereft wfiequr & neg
(c) Tortft afieqmr & 31d & gy
(d) foreft ofieror & yRy & @eig
93. fawugTeHs g F: 1 R ?
(a) 01
(b) 02
(0 03
d 04
94. z-99% (z-score) & Hay # fA=fafgd w =R
Hifs
17 zlﬁ JYTITH THS (raw score) HIEY *
U 7, T z-H5 I BT 2 |
2. z-GH% FIcHS &l Tehdl & |
3. z-UH% UH AT HEI1 & Ghdl 2 |
HH-H HYT FEl 8 ?
(a) haet 13 2
(b) ohael 23R 3
(¢) had 13N 3
d 1,23MW3
JMRE-B-KLI (38—

95. fowm s ¥ @y # fafafes w fEw
Hifoa :

T gD fayq s |, Fifeden & o

3T HTET gl B |

T FUTcHS fawm e d, #rfeyem & <
ST AT BT R |

3T # A HHAYHHA HYT T B3 2
(a) had 1

(b) HadA 2

(© 13 23H

@ JT@1, T8 2

L

2.

96. TR HEHSAT &1 HIET 175 8 | 390 © B oA
TEAeT H1 Wew 15 & | Al ewEr @ gRER
(range) 15 8, dl 92! o9 g@ar=di 1 qreq F=41
2
(@ 275
b). 25
(c) 225
(d .20

97. Tr=faRgad gmi w foaam Hifsw .

geera H197-719H1
(Instance) (Measurement
Scale)

1. foreium wR 5@ w6 srguma-ae
foreneff 331 Hepar 2 (Ratio Scale)

2. foenfRi # FAHER wH-gEs Ao
& T TEa, IW-IW  (Ordinal Scale)
q 50 YA areft
gltenm gt e §

3T § ¥ IH-AY/HH-A IW g gafea 878 2

(a) Had 1

(b) Had 2

(¢) 13 23l

(@ Fa@1, T8 2

A)



Consider the following for the next three (03) items | 95.
that follow : :
An item was administered to an elementary class
consisting of 200 students. The number of students
choosing responses A, B, C and D is shown in the
following table. The keyed response is B.
Response Al-B | C1D
Upper 27% (54 students) | 3 | 51 | — | —
Lower 27% (54 students) | 12 | 30 | 9 | 3
91. What is the difficulty index of the item ?
(a) 05 '
(b) 065
(© 075
(d) .09
96.
92. Such item of the above difficulty level
(obtained in the previous question) would be a
good one to place
(a) anywhere on a test
(b) in the midst of a test
(¢) near the end of a test
(d) near the beginning of a test
93. What is the discriminating index ?
(a) 01 97.
(b) 02
(© 03
d 04
94. Consider the following in respect of z-score :
1. If the raw score is equal to the mean,
then z-score is zero.
2.  z-score can be negative.
3.  z-score can be a decimal number.
Which statements are correct ?
(a) land2only
(b) 2and 3 only
(¢) 1and3only
(d 1,2and3
JMRE-B-KLI (39-A)

Consider the following in respect of skewed
distribution :

1. In a positively skewed distribution, the
mean falls to the left of the median.

2. In a negatively skewed distribution, the
mean falls to the right of the median.

Which of the statements given above is/are

correct ?

(a)  1only

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

The mean of four numbers is 17-5. Out of
them the mean of the smaller three numbers
is 15. If the range of the data is 15, what is
the mean of the larger three numbers ?

(a) 275
(b) 25
(0 225
(d 20

Consider the following pairs :

Instance Measurement
Scale
1.  Weight in kilograms Ratio Scale
that a student can lift
2. Number assigned Ordinal Scale

consecutively to
students as they
complete a test
comprising 50 items

Which of the above pairs is/are correctly
matched ?

(a) 1only

(b) 2only

(¢) Both1and?2
(d) Neither 1 nor 2



98. f=feifgd gmi w famm Hifve .
T H197-57941
(Instance) (Measurement
Scale)

1. 20 SeATSI areft qdiem  STuTd-HTa
T W ywmEn e (Ratio Scale)
g, ush foemeft 3
R T8l I f

2. foPt & faftm i
TRl § ¥ Y% P (Nominal Scale)
Eéﬁ‘“ %@“3
‘a’a%m%

I # ¥ HH-AYHA-Y I Td ghferd 2/8 2

(a) had 1

(b) had 2

(¢ 13 23Mt

@ TI@ML,TIR2

99. fr=fafiga Fuai w fomm Hifs .

1. Tt w2 d§ wdf & forw ofien & 3=
SlTﬂﬁﬁ e (predictive validity) BT
=1few |

2. YRR dgar Tt wfwiegwr & forw w=m
fhr I ara =i i IugRaT H
Y@iferd et & |

U Ul § A HH-A/HAE T 2R 2

(a) ad 1

(b) had 2

(¢) 13 22

@ d@1L, T8 2

100. T TEw 1 fovadaar ek 064 B | I8

w1 giad T 8 2

(a) T8 F0&U 329% i A1 d FAref-AwEan
YT B

(b) I8 THT 40% H A q FArd-FwEar
AT B

(¢) I8 T 649% 6 HHT qeh Fred-Frrar
I B

(d) I8 T 80% I Hur qeh Jeme- A
AT B

JMRE-B-KLI

101.

102.

(40-A)

(b)

YU &4 (Normal Distribution) 1 9T
HE aId VLU F =T HI AT 135 IR

A fa=re 2:5 8 | I8 F1 gfad HLt & 2
(a) ST 50% Y& 11 3R 16 & &= &
T 68% J&UT 11 3R 16 & T §
(c) T 95% N&U 11 3R 16 & o= &
(d) T 99% Y& 85 3N 185 % &= &

Thieror favemor & Hed #, fafafad sl w
formm HifS

1. UH 998 gRI WTH 37l I Had ygfa #,
afe AIfEHHT (median) 3 FEAH (mode)
% WM %A 9T 14 §, a1 F Tohas grad
w1 & fop wlien srcafies wfeT 2 |

2. ARG I # fowr, Fga Afus B R
fovaafaar #0 2, @ A= 3 ot +=9
il

3@%5@ HH-H/HH-H HAT & /2 2
(a) a1

(b) A 2

13 2 M

(c)

(@ Jd@1L, T8 2



98. Consider the following pairs :
Instance Measurement
Scale

1. Number of items a Ratio Scale
student answers
correctly in a test
comprising 20 items

2. Number assigned to Nominal
different groups of Scale
students each of which
solved a certain
problem by a different
method

Which of the above pairs is/are correctly

matched ?

(a) 1only

(b) 2 only

(¢c) Both1land?2

(d) Neither 1 nor 2

99. Consider the following statements :

1. A test for recruitment to a post should
have high predictive validity.

2. Predictive validity wunderlines the
suitability of candidates to be selected
for a training.

Which of the statements given above is/are

- correct ?

(a) 1only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

100. The reliability coefficient of a test is 0-64.

What does it indicate ?

(a) The test measures true ability to the
extent of 32%

(b) The test measures true ability to the
extent of 40%

(c) The test measures true ability to the
extent of 64%

(d) The test measures true ability to the
extent of 80%

JMRE-B-KLI

101.

102.

(41-A)

The mean of set of observations that follow
normal distribution is 135 and standard
deviation is 2-5. What does it indicate ?

About 50% of observations fall within
11 and 16

(a)

About 68% of observations fall within
11 and 16

(b)

About 95% of observations fall within
11 and 16

(c)

About 99% of observations fall within
8:5 and 18:5

(d)

In the context of test analysis, consider the
following statements :

1. In the Central Tendency of marks
obtained by a group, if the values of
median and mode are found to be low,
then these indices indicate that the test

is very hard.

2.  If the spread of marks is large and the
reliability is low, then standard error is

also low.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(¢) Both1and2

(d) Neither 1 nor 2



103.

104.

105.
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Frafefaa weat w fomm hife .

HYAI :
w120 1Q (3fg @few) aren =afs, w
60 1Q (3fg wfswr) at =afes & g o
3R ghgam 2 7 |

BHIT-II :

g Tfew SThuTardt o Rqa et @ |
39 Sl & Hed # fFefafgd & ¥ S
TR 2
(a) HW-I MM FH-I, a1 Tl & 3R
FHYA-11, -1 I T =TT B |
HY1 3R FoAIL, A wd 8, feg
HYA-11, HYA-1 I TE =TT T8 2 |
FA-1 T 2, Fobeq oA-I1 T TE 2 |
-1 IR HY-I1, 31 T T8 & |

100 Tpeft s=di ¥ UH wg §, vH Iyl
g &1 fovaedfaar ik 06 B | afe
qUEUI-37AfY (test length) T o & ST 4
e frvamefian (sttq fraetm k) w
w1 IHE T 2 (TFRRAASA W e
1 =T Shifs)

(a) 06

(b) 065

(c) 075

(d 09

T Aferh Iuafsy whewr 1 fvaeiaar qois
0-50 8 | &1 THEU-31EM (test length) frat
sgrHt Bt @i 075 w1 favamEEaToT
gifeaa fen o1 o5 2 (Tfiesmed il
wiEfen #1 s Hif)

(@) 15T

(b) 27

() 257

@) 37TM

(b)

(c)
(d)

106. 15,12, 6, 14, 18 3Thel (Data) &1 B fa=e

107.

108.

109.

(42-A)

R ?
(a) 4
(b) 6
(c) 8
(d 16

S | W WS S " S g,
519 Ygf 1 gataq a9 =41 g 2

(a) @WIAT HTEA (Arithmetic Mean)

(b) wEASH (Mode)

(c) TIfEAHT (Median)

(d) TUcHS U (Harmonic Mean)

T HET % 9K WA A, B, C, D (Y% H
40 faeneff §) & feanfeiai g ya st &1 T
3w faaem = g mu €

oeg 3% 30 | 40 | 36 | 25

A% fo=er 6 |19 lv9 | 8

R EE § H HHE GRE Ah §
fererorsfierar gufar 2 2

(a) aTﬂF{A

(b) ¥FHEB

(¢ HFEWHC

(d ¥FHED

usdia foam fifd, 2020 F HER, 9wa @R

‘@ “Set gumasht fafr” (Gender Inclusion

Fund) ®1fud s0ft | 77 fafyr fomass fog 2 2
(a) <had ST % fou

(b) had TESE Tl & forg

(c) wfereal 3R giEsiet s, 31 & foru
d) haw feeam aifemsn & foo



103. Consider the following statements :

104.

105.

JMRE-B-KLI

Statement-I :

An individual with IQ (Intelligence

Quotient) 120 is twice as capable and

intelligent as an individual with IQ 60.
Statement-11 :

1Q gives a direct proportional comparison.

Which one of the following is correct in respect
of the above statements ? !

(a) Both the Statements I and II are correct
and Statement-II is the correct

explanation of Statement-I.

(b) Both the Statements I and II are correct,
but Statement-II is not the correct
explanation of Statement-I.

(¢) Statement-I is correct, but Statement-II
is incorrect.

(d) Both the Statements I and II are
incorrect.

In a group of 100 school children, the

reliability coefficient of an achievement test is
0-6. What will be the effect upon test
reliability (i.e., reliability coefficient) if the
test length is doubled ? (Use Spearman-Brown
Prophecy formula)

(a) 06
(b) 0-65
(c)-~ 075
(d 09
An educational achievement test has

reliability coefficient 0-50. How much should
we increase test length to ensure a reliability
coefficient of 0-75 ? (Use Spearman-Brown
Prophecy formula)

(a)
(b)
()
(d)

1-5 times
2 times
2-5 times

3 times

(43 -

106.

107.

108.

109.

A)

What is the standard deviation of the data
15, 12,6, 14,18 ?

(a) 4

(b) 6

) B

(d 16

When variables are measured on nominal
scale, the best measure of Central Tendency is
(a) Arithmetic Mean

(b) Mode

(¢) Median

(d) Harmonic Mean

The mean and standard deviation of marks

obtained by students of four sections A, B,
C, D (each comprising 40 students) of a class
are given below :

Mean marks 30 | 40 | 36 25

Standard Deviation| 6 12 9 8

Which one of the four sections shows the
lowest variability in marks ?

(a) Section A
(b) Section B
(¢) Section C
(d) Section D
As per the National Education Policy, 2020,

the Government of India would set up a
“Gender Inclusion Fund”. This fund is meant
for

(a) Girls only

(b) Transgender children only

(c) Both girls and transgender children
(d) Physically challenged girls only
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110. Y@ & HeW # f=afafgs st w fEr

Hifom

1. U%d W IEE H FY 3R GEg &F H
ferepan ITEH R |

2. QAT H FdaEAT F TAWF & F
Heh % €Y § YT AT 8 |

IR | F PH-AY/HA-Y FUH wE 2R 2

(a) ad 1

(b) e 2

(¢ 13 2gM

@ TI@A1L,TIR2

111. UET s Ffws St foret <ieh A & HIE ol

Fdod ! I T A H 8g fwad a1 g, @
30 yeEr fane srfufm, 1988 + oA
HREE &, JuR ¥ T g1 | gfea fmm
Tehdl 2 | W] =3fth & foTq e <t srfereran
rafer Fr B 2
(a) o ¥
(b) g ad
(c) g a9
d 3mead

112. a1 &1 Afeer arfufam, 2005 & d@ag ¥

frforfiga § ¥ S8 w9 v € 2

1. ‘gu’ # 3ot ®9 § gifa T,
Aied 3R 3ffehg AfEferd & |

2. “fii@” o wgshifhen #  wifase
yfaferst 1 gecare afmfera g |

3. gual &1 AR # Hfd, TEE AR
afirerat w1 ffterr aftafoa 72 7 |

= fou U e w1 T W wE SW AT ¢

(a) hao 137 2

(b) haw 23R 3

(c) “had 131 3

@ 1,233

113.

114.

115.

(44-A)

forl S ol ge T R
Ty | fham et & ofie =afom = wem
it o Hehal 8 2

(@) 15f@

() 30fE

(0 45T

@ e60fE

g ok e s fiem w1 srfveR
Afufem, 2009 & "y § f=fafea @ @
HH-F/HH-T HAT TE B/8 ?

1. et sreres At sroft yrifyes fren gt &
% fou, 3o fafifdse foeert =t sgam,
T foaew @ 3= foue™ d wmmEm
A T AR 2 |

2. o TWHR I T TEHR & 39
Ffufem & Iueyl H wEif=d FH &
fow fftEt Sucey w9 & fow wwadt
IR BT |

H= feu Tu e F T W= FE IW A

(a) ad 1

(b) had 2

(c) 13 2@l

(@ J@1L,TE2

fiyes ot afed @ fien &1 IR

arfufem, 2009 & el # wgfua @R +

frafafiga # @ F98 Fa=a & 2

1. JEEEAT IUeY KA1, @ 3idia
foraner wam, freor sweTige it siferm
% g ot 8 |

2. vwuafs fyiem & fow wesmm 3k
yeushhl o1 g 4 fafga fear S

T |

3. fowi & fou vfigwr gloa Iucea
HTAT |

= feu T e w1y W= EE W g

(a) had 1371 2

(b) had 23R 3

(c) haoT 1371 3

d 1,233



110.

111.

112.

Consider the following with reference to
India :

1. Agriculture and allied sectors contribute
maximum to Gross Domestic Product.

2.  Services sector is treated as a component
of Primary sector of economy.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1and?2

(d) Neither 1 nor 2

A person who bribes a public servant for

improper performance of a public duty, can be
punished with imprisonment, fine, or both,
under the Prevention of Corruption Act, 1988.
What is the maximum period for which a
person can be imprisoned ?

(a) Three years

(b) Five years

(¢) Seven years

(d) Eight years

Which of the following statements are correct

in relation to the Right to Information Act,
2005 ?
1. The term “information” includes

samples, models and data held in
electronic form.

2. The term “record” includes reproduction

of images embodied in microfilms.

3.  The right to information does not extend
to inspection of work, documents and
records.

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only
(d) 1,2and3
JMRE-B-KLI (45 -

113.

114.

115.

A)

Within how many days of receiving the
decision of a Central Public Information
Officer, can an aggrieved person file the first

appeal ?

(a) 15days
(b) 30days
(¢) 45days
(d) 60days

Which of the following statements is/are
correct in relation to the Right of Children to
Free and Compulsory Education Act, 2009 ?

1. A child has the right to seek transfer
from one school to another except some
specified schools, for completing his/her
elementary education.

2.  The Central and the State Governments
shall have concurrent responsibility for
providing funds for carrying out
provisions of the Act.

Select the correct answer using the code given

below :

(a) 1only

(b) 2only

(c) Both1and2
(d) Neither 1 nor 2

With reference to the Right of Children to

Free and Compulsory Education Act, 2009,

which of the following are the duties of

appropriate Government ?

1.  Provide infrastructure including school
building, teaching staff and learning
equipment.

2.  Ensure timely prescribing of curriculum

and courses of study for elementary
education.
3.  Provide training facility for teachers.
Select the correct answer using the code given
below :
(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only
(d 1,2and3
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116. g1 1 AHR Afufem, 2005 & 37HH

frfafea & @ form aofi/fe aftrat 6t = &

e U TR A ge AT R 2

1. g, s ged § U590 & defe @
anfies Rl w sl gwma wear &

2. Tt =afes o Soh Jvanfes et A
3Ty FEAI, TS qh hl TEW WY
%1 I GHTUM TEl B el B b Wl g
% Yehed @ faqa ot f&a &1 wmelA g
g

Hi= feu mu e w1 = W gAY

%ad 1

*ad 2

13X 2 g1

AL, a2

(a)
(b)
(©
(d)

117. drpawr # fpfl woa Y T & foe

fefafga & @ sR@ wd omwm ¢t B+

MR ?

1. 3&d 150 & Iifirk weg A& B |

2, gt i 5 Frefot fawer 7 TaTe S |

3. 3EH R % ywEd IR fmufafm %
Hr-gEeH % aY SR & 9 S |

= f3u T e 1 SE = S g

(a) had 131 2

(b) had 23R 3

() %ad 13 3

@ 1,233

118. HREEIA W AfgeArsh &1 dAfiep Icdted (Fam,

119.

yfovy o wfediw) sifufem, 2013 & =
fheft orafy 1 wrEm derw fafifde fFn

TR ?
(a) 3HIB
(b) 6 HIE

199

@) afufm § +i5 sEm ey faffde
T fopan T @

(c)

frafafga afemfEt & @ =9 f5dt S
TR F e H J6F @Rl Tt gian

22
(a) Hfea
RS ICIREREED

SICRSICIEC BERL

(b)
(c)

(@) foa gaEsr

120. g=1 1 3rfeepr fufEm, 2005 & erefF Al

(46-A)

aift 78 gun w1 dey R St & Sfiew @
Waadl 4 8, A 09 WH 8 % «1g foRat
3 & fieR gEAT Uty HUT ST ?

24 %2
48%e
3f
7

(a)

(b)

(c)

(d)
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117.
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Which of the of
information is/are exempted from disclosure
under the Right to Information Act, 2005 ?

following categories

1. Information, disclosure of which would
prejudicially affect the scientific or

economic interests of the State

2.  Information available to a person in his
the
competent authority is satisfied that the

fiduciary relationship, unless

larger public interest warrants the

disclosure of such information

Select the correct answer using the code given
below :

(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

Which of the following conditions must be

satisfied for admission of a Question in the
Lok Sabha ?

1. It shall not exceed 150 words.
2. It shall not raise larger issues of policy.

3. It shall not go into minor details of
administration and day-to-day working

of the Government.

Select the correct answer usihg the code given

below :
(a)
(b)
()
(d)

1 and 2 only
2 and 3 only
1 and 3 only
1,2 and 3

118.

119.

120.

(47-A)

What is the minimum imprisonmeht
prescribed in the Sexual Harassment of
Women at Workplace (Prevention, Prohibition

and Redressal) Act, 2013 ?

(a) 3 months

(b) 6 months

() 1year

(d) No imprisonment is prescribed in the
Act ‘

Which one of the following officers is the Chief

Authority in a  Central

Government Ministry ?

Accounting

(a) Secretary

(b) Chief Controller of Accounts

(¢) Public Accounts Officer

(d) Financial Adviser

Under the Right to Information Act, 2005, if

the information sought for concerns the life or
liberty of a person, within which time period
after the receipt of the request shall the
information be supplied ?

(a) 24 hours
(b) 48 hours
(c) 3days
(d) 7days



H= HH & foru v
SPACE FOR ROUGH WORK

JMRE-B-KLI (48-A)



w= & & foru srrg
SPACE FOR ROUGH WORK

JMRE-B-KLI (49-A)



F T & forg wrg
SPACE FOR ROUGH WORK

JMRE-B-KLI (50-A)



&= T & foru g
SPACE FOR ROUGH WORK

JMRE-B-KLI (51-A)



DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : JMRE-B-KLI Test Booklet Series

TEST BOOKLET
GAT - EDUCATION

Time Allowed : Two Hours Maximum Marks : 300

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions) in two parts : PART - A and PART - B. Each
item in PART - B is printed both in Hindi and English. Each item comprises four responses
(answers). You will select the response which you want to mark on the Answer Sheet. In case you
feel that there is more than one correct response, mark the response which you consider the best. In
any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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